Activity definition HVACL1

In this activity, this document did not mention the problem of capacity matching. Product that
the rated cooling capacity of the product should equal (or close) to the rated total cooling
capacity of the decommissioned product. For examples, the power of existing air conditioner
is 4kW, customers are interested in the 6kW air conditioner, how to calculate Certificates?

Meanwhile, the AEER should be applied instead of EER. AEER means annual energy
efficiency ratio; EER means energy efficiency ratio. Normally, AEER is more accurate than
EER, when describing the performance of air conditioners.

And, In the table 1.1,1.2,1.4 from the schedule B, data (baseline cooling EER, and minimum
requirement EER) should agree with table D16.2, D16.3, D16.5 in the energy savings scheme
(Amendment No.1) Rule 2022.



